20174124 v19sifkars (FH) ek—%

K# %R | PE i@ WattBike3% | 20min Ergo | 6KTT | 6KTT Ideal Time
A &8 L 2 BWHEIEEK 471 5703| 24:27.07 80.77%
BAR EH L &1 LR SR 447 5582| 25:51.28 76.39%
hE ED E: a2 INEEK 417 5687| 25:47.27 76.59%
fIER Z=F E: =3 SIAEER 395 5569| 25:18.42 78.04%
#R ® L 2 EEIL 452 5671 25:10.31 78.46%
FIER  StiA E: =2 REEMRER 419 5577| 25:35.42 77.18%
FH BE E: 2 KFERER 431 5540( 25:03.57 78.81%
HE Rt 5 &2 SRABEER 381 5435( 25:24.47 77.73%
’E BN B =2 KFIESK 401 5462 25:29.99 77.45%
X BRX E &2 EHER 387 5536( 25:30.67 77.42%
A RE E =2 FHEREK 410 5518 25:33.62 77.27%
RE ERA E =2 INR)IER 397 5600( 25:34.28 77.23%
4H K E &2 ENRIEER 400 5421 25:36.65 77.12%
hER A E =3 INR)ITER 402 5590( 25:37.47 77.07%
A& MK 3 &2 EEER 343 5322| 25:37.57 77.07%
EH ORA E =2 HEBR 382 5515( 25:44.96 76.70%
xXB& XF £ =2 HETESHK 365 5349( 25:51.54 76.38%
e #X 3 &2 EHEK 419 5546| 25:53.86 76.26%
HhiE R E H3 [ESAD2ZTFR—+IFT 396 5488| 26:11.77 75.39%
HiG BEN E &2 BIIEEsE 385 5428| 26:14.27 75.27%
T8 AN E &1 RAZEXRFABEEK 348 5488| 26:14.85 75.25%
& #\ E =2 SIATEER 372 5415| 26:15.33 75.22%
Mt X E &2 SARmER 277 5314| 26:18.86 75.05%
+tE BE E =2 REBK 439 5390( 26:20.51 74.98%
BA B E &2 ISR 393 5403| 26:22.30 74.89%
1 B E =2 EER 393 5553 26:27.68 74.64%
I— %2 E =2 HHEK 405 5533 26:47.14 73.73%
XS FK E &2 ZER 369 5510( 27:00.45 73.13%
BA HEE £ =2 NREIER 291 5392| 27:00.66 73.12%
IR RK E &2 RF B 355 5283| 28:36.76 69.03%

K# %R | PE i@ WattBike3% | 20min Ergo | 6KTT | 6KTT Ideal Time
iz &FF ES a1 EEIL 331 5031 27:19.66 79.59%
A RE ES =2 EEIL 304 5077 27:31.70 79.01%
KB OME ES =3 HME—ZFER 298 5033( 27:44.85 78.39%
EiEES ES =2 EXSLA 300 5039( 27:55.87 77.87%
HE KA ES a2 EER 324 5145( 28:07.88 77.32%
[17]m R 972y} = =3 EAFER 263 4904/ 27:36.63 78.77%
#A MHE ES &2 SEREER 298 5044| 28:14.59 77.01%
LSO ES a1 EXSLA 315 5027| 28:25.52 76.52%
B ORE ES a1 EXLA 283 5078| 27:37.52 78.73%
B 0 ES =2 EXISLA 284 5011| 28:32.07 76.22%
WA RF = =R B FEEK 326 5072
fEH EX ES =3 FEREFER 269 5024/ 28:09.35 77.25%
WER BE ES =2 KFEER 270 4570| 28:13.19 77.07%
L% X% = H3 [ESADa=TFTR—+IFT 263 4900/ 28:19.22 76.80%
2 FaAE ES =2 AR ER 269 4903 28:31.84 76.23%
7 OEERE = =2 SIARmER 277 5076 28:34.61 76.11%
A FEME ES =2 SIARmER 270 4919/ 28:40.16 75.87%
bz HYS ES =2 HEBR 279 4924| 28:43.14 75.73%
e mE ES =2 ISR 279 4963 28:45.11 75.65%
HK BR ES =2 I\NERER 253 4948 28:45.30 75.64%
&0 BEF ES =3 FHEREK 271 28:46.13 75.60%
T i’ ES =2 RAZEXRFABEEK 283 4923 29:02.21 74.90%
KR BE ES =3 EAER 251 4932| 29:05.01 74.78%
wH FE ES =2 T EREER 243 4820( 29:11.77 74.50%
Ak = = =2 HEBR 279 4907 29:15.32 74.35%
wil E2i ES =2 RGBSR 269 4767 29:20.68 74.12%
4 FF ES &1 EERERER 263 4822| 29:48.10 72.98%
5k B ES &1 BEER 281 4802| 29:52.43 72.81%
EE BR ES &2 BEER 272 4892 30:02.09 72.42%
ALLH HE ES &2 MmEER




